



iJRASET

International Journal For Research in
Applied Science and Engineering Technology



INTERNATIONAL JOURNAL FOR RESEARCH

IN APPLIED SCIENCE & ENGINEERING TECHNOLOGY

Volume: 12 **Issue:** III **Month of publication:** March 2024

DOI: <https://doi.org/10.22214/ijraset.2024.58884>

www.ijraset.com

Call: ☎ 08813907089

E-mail ID: ijraset@gmail.com

Intrinsic Solutions to the Biquadratic Diophantine Equations $x^4 - y^4 = 65(z^2 - w^2)p^2$

S. Vidhya¹, L. Jayapriya²

¹Assistant Professor, ²PG Student, PG and Research Department of Mathematics, Cauvery College for Women (Autonomous),
(Affiliated to Bharathidasan University), Tiruchirappalli-620018

Abstract: The Biquadratic Diophantine equation with five unknowns has non-zero unique intrinsic integral solutions obtained. The recurrence relation between the solutions is also obtained.

Keywords: Biquadratic Diophantine equation, Pell equation, integral solution.

I. INTRODUCTION

The reigning princess of mathematics is number theory. For Diophantine problems, when the number of equations is less than the number of unknowns, the objective is to find numbers that concurrently answer every equation. Due to its variety, the Biquadratic Diophantine equation provides an infinite field of study. The five unknown biquadratic equation $x^4 - y^4 = 65(z^2 - w^2)p^2$ is taken into consideration for its non-zero unique integer solutions. The recurrence relation is also found.

II. METHOD OF ANALYSIS

The non-zero distinct integral solution of the homogeneous Biquadratic Diophantine equations with five unknowns is

$$x^4 - y^4 = 65(z^2 - w^2)p^2 \quad (1)$$

Introducing the linear transformations

$$x = u + v, y = u - v, z = 2u + v, w = 2u - v \quad (2)$$

Equation (1) becomes

$$u^2 + v^2 = 65p^2 \quad (3)$$

Equation (3) can be solved in the following two methods.

A. Method I

The non-zero distinct integer solutions of the equation (3) are derived in the following three patterns.

1) Pattern I

Assume

$$65 = (8 + i)(8 - i) \quad (4)$$

$$\text{and } p = a^2 + b^2 = (a + ib)(a - ib) \quad (5)$$

Using (4) and (5) in (3) and employing the method of factorization, we get,

$$(u + iv)(u - iv) = (8 + i)(8 - i)(a + ib)^2(a - ib)^2$$

Equating the like factors, we get,

$$(u + iv) = (8 + i)(a + ib)^2$$

$$(u - iv) = (8 - i)(a - ib)^2$$

Equating real and imaginary part, we get,

$$u = 8a^2 - 8b^2 - 2ab$$

$$v = a^2 - b^2 + 16ab$$

The non-zero unique integer solution to equation (2) after substituting u and v are:

$$x = x(a, b) = 9a^2 - 9b^2 + 14ab$$

$$y = y(a, b) = 7a^2 - 7b^2 - 18ab$$

$$z = z(a, b) = 17a^2 - 17b^2 + 12ab$$

$$w = w(a, b) = 15a^2 - 15b^2 - 20ab$$

$$p = p(a, b) = a^2 + b^2$$

Observations:

1. $x(a, 1) + y(a, 1) - w(a, 1) - 2T_{3,a} - 7Gno_a - a \equiv 0 \pmod{6}$.
2. $x(2, 2) + 2z(1, 1) + p(1, 0)$ is a perfect square.
3. $2z(1, 1)$ is a Nasty number.
4. $p(1, 1)$ is a Palindrome number.
5. $3x(1, 1)$ is a Harshad number.

2) Pattern II

The number 65 may also be expressed as follows:

$$65 = (1 + 8i)(1 - 8i) \quad (6)$$

By applying factorization and using (5) and (6) in (3), we obtain,

$$(u + iv)(u - iv) = (1 + 8i)(1 - 8i)(a + ib)^2(a - ib)^2$$

Applying the methodology of pattern I, the non-zero distinct integer solutions of (1) are

$$x = x(a, b) = 9a^2 - 9b^2 - 14ab$$

$$y = y(a, b) = -7a^2 + 7b^2 - 18ab$$

$$z = z(a, b) = 10a^2 - 10b^2 - 30ab$$

$$w = w(a, b) = -6a^2 + 6b^2 - 34ab$$

$$p = p(a, b) = a^2 + b^2$$

Observations:

1. $x(a, 1) + y(a, 1) - w(a, 1) - Star_a - 2T_{3,a} - 2T_{3,a} - 4Gno_n \equiv 0 \pmod{5}$.
2. $10p(1, 1) - w(1, 1)$ is a Nasty number.
3. $p(6, 4) + z(1, 1)$ is a Happy number.
4. $5p(1, 1) + 3y(1, -1)$ is a perfect cube.
5. $w(1, -1) + z(1, 1)$ is a perfect square.

3) Pattern III

Rewriting equation (3) as

$$1 * u^2 = 65p^2 - v^2 \quad (7)$$

Assume

$$u = 65a^2 - b^2 = (\sqrt{65}a + b)(\sqrt{65}a - b) \quad (8)$$

Write 1 as,

$$1 = (\sqrt{65} + 8)(\sqrt{65} - 8) \quad (9)$$

Using (8) and (9) in (7) and employing the method of factorization, we get,

$$(\sqrt{65} + 8)(\sqrt{65} - 8)(\sqrt{65}a + b)^2 (\sqrt{65}a - b)^2 = (\sqrt{65}p + v)(\sqrt{65}p - v)$$

Equating the like factors, we get,

$$(\sqrt{65} + 8)(\sqrt{65}a + b)^2 = (\sqrt{65}p + v)$$

$$(\sqrt{65} - 8)(\sqrt{65}a - b)^2 = (\sqrt{65}p - v)$$

Equating rational and irrational part, we get,

$$p = 65a^2 + b^2 + 16ab$$

$$v = 520a^2 + 8b^2 + 130ab$$

The non-zero unique integer solution to equation (2) after substituting u and v are:

$$x = x(a, b) = 585a^2 + 7b^2 + 130ab$$

$$y = y(a, b) = -455a^2 - 9b^2 - 130ab$$

$$z = z(a, b) = 650a^2 + 6b^2 + 130ab$$

$$w = w(a, b) = -390a^2 - 10b^2 - 130ab$$

$$p = p(a, b) = 65a^2 + b^2 + 16ab$$

Observations:

1. $x(1, b) + y(1, b) + z(1, b) - T_{10, b} - 66Gno_b - b \equiv 0 \pmod{586}$
2. $z(1, 1) - x(1, 1)$ is a perfect cube.
3. $z(1, 1) + w(1, 1)$ is a perfect square.
4. $8p(1, 1) + w(1, 1)$ is a Niven number.
5. $p(1, 1)$ is a Happy number.

B. Method II

Here a new method is used to solve (3) in order to require the integer solutions of (1). Let $u_0 = 8v$, $p_0 = v$ be the least positive integer solution of (3). To derive the remaining solutions for equation (3), the Pell equation taken into consideration.

$$u^2 = 65p^2 + 1$$

whose initial solution

$$u_n = \frac{1}{2} f_n$$

$$p_n = \frac{1}{2\sqrt{65}} g_n$$

where

$$f_n = (129 + 16\sqrt{65})^{n+1} + (129 - 16\sqrt{65})^{n+1} \text{ and}$$

$$g_n = (129 + 16\sqrt{65})^{n+1} - (129 - 16\sqrt{65})^{n+1}$$

Brahmaguptalemma is applied between (u_0, p_0) and (u_n, p_n) to yield the series of non-zero unique integer solutions of(1).

$$x_{n+1} = v\left\{\frac{1}{2}[(129 + 16\sqrt{65})^{n+1}(8 + \sqrt{65}) + (129 - 16\sqrt{65})^{n+1}(8 - \sqrt{65})] + 1\right\}$$

$$y_{n+1} = v\left\{\frac{1}{2}[(129 + 16\sqrt{65})^{n+1}(8 + \sqrt{65}) + (129 - 16\sqrt{65})^{n+1}(8 - \sqrt{65})] - 1\right\}$$

$$z_{n+1} = v\left\{[(129 + 16\sqrt{65})^{n+1}(8 + \sqrt{65}) + (129 - 16\sqrt{65})^{n+1}(8 - \sqrt{65})] + 1\right\}$$

$$w_{n+1} = v\left\{[(129 + 16\sqrt{65})^{n+1}(8 + \sqrt{65}) + (129 - 16\sqrt{65})^{n+1}(8 - \sqrt{65})] - 1\right\}$$

$$p_{n+1} = \frac{1}{2\sqrt{65}}v[(129 + 16\sqrt{65})^{n+1}(\sqrt{65} - 8) + (129 - 16\sqrt{65})^{n+1}(\sqrt{65} - 8)]$$

The solutions to equation (1) satisfy the following recurrence relations

$$x_{n+1} - 258x_{n+2} + x_{n+3} = -256v$$

$$y_{n+1} - 258y_{n+2} + y_{n+3} = 256v$$

$$z_{n+1} - 258z_{n+2} + z_{n+3} = -256v$$

$$w_{n+1} - 258w_{n+2} + w_{n+3} = 256v$$

III. CONCLUSION

Other non-zero unique integer solutions to the Biquadratic equations with multiple variables under consideration can be found. To conclude, one can search for biquadratic Diophantine equations for various numbers with the corresponding properties.

REFERENCES

- [1] Ajai Choudhary, "On the Diophantine Equation $A^4 + hB^4 = C^4 + hD^4$ ", Indian J.Pure appl. Math., Vol.26, No.11, pp.1047-1061, 1995.
- [2] Al -Zaid H, Brinda B and Printer A, "On Positive integer solutions of the Equation $xy + yz + zx = n$ ", Canad. Math. Bull, Vol.39, pp.199, 1996.
- [3] Bhanumurthy T.S, "Ancient Indian Mathematics", New Age International Publishers Limited, New Delhi, 1995.
- [4] Bibhotibhusan Batta and Avadhesh Narayanan Singh, "History of Hindu Mathematics", Asia Publishing House, 1938.
- [5] Borevich Z.I and Shafarevich I.R, "Number Theory", Academic Press, New York, 1966.
- [6] Carmichael R.D, "Theory of Numbers and Diophantine Analysis", Dover Publications Inc., New York, 1959.
- [7] David M. Burton, "Elementary Number Theory", Universal Book Stall, New Delhi, 2006.
- [8] Dudley. U, "Elementary Number Theory", W.H. Freeman and Co., New York, 1969.
- [9] Gopalan M.A and Janaki G, Integral solutions of the ternary quarticequation $x^2 - y^2 + xy = z^4$, Impact. Sci. Tech, J Volume 2, Issue 2, 71-79, 2008.
- [10] Gopalan M.A and Kalingarani J, Quartic equation in five unknowns $x^4 - y^4 = 2(z^2 - w^2)p^2$, Bulletin of pure and applied sciences, Volume 28, issue2, 305-311, 2009.
- [11] Gopalan M.A and Kalingarani J, Quartic equation in five unknowns $x^4 - y^4 = 2(z - w)p^2$, Bessel J. Math, Volume 4, Issue 4, 111-115, 2010.
- [12] Gopalan M. A and Shanmuganandham P, on the biquadratic equation $x^4 + y^4 + z^4 = 2w^4$ Impact J. Sci.Tech, Volume 4, Issue 4, 111-115, 2010.
- [13] Gopalan M.A and Janaki G, Integral solutions of $(x^2 - y^2)(3x^2 + 3y^2 - 2xy) = 2(z^2 - w^2)p^3$, Impact J.Sci.Tech, volume 4, 97- 102, 2010.
- [14] Gopalan M.A and Shanmuganandham P, on the biquadratic equation $x^4 + y^4 + (x + y)z^3 = 2(k^2 + 3)^{2n}w^4$, Bessel J. Math, Volume 2, Issue 2, 87-91, 2012.
- [15] Janaki G and Vidhya S, on the integer solutions of the Homogeneous Biquadratic Diophantine equation $x^4 - y^4 = 82(z^2 - w^2)p^2$, International Journal of Engineering Science and Computing, volume.6, Issue.6, Pp.7275-7278, 2016.



10.22214/IJRASET



45.98



IMPACT FACTOR:
7.129



IMPACT FACTOR:
7.429



INTERNATIONAL JOURNAL FOR RESEARCH

IN APPLIED SCIENCE & ENGINEERING TECHNOLOGY

Call : 08813907089  (24*7 Support on Whatsapp)